I just had some questions about the exam instructions:
Question 1. Is assumption #1 a broad instruction that we should be applying the old common law unless you've expressly abolished it through another assumption (like assumptions #7 and #8)? I'm just a little confused about where we should be applying old common law and where we should be applying modern law.

Answer 1. What you call ‘old common law’ is, in fact, modern law if the state has received the common law. What #1 tells you is that the state has received the common law. But you are right that the rest of the assumptions, for the most part, constitute deviations from the common law as of the time when the state received it.
Question 2 (Question 1, follow-up). Are you saying that the state that has received the common law applies it as the English common law or as modern common law courts apply it today? For example, if a couple divorces, should we assume that (as in English common law) the husband's property belongs to the husband and the wife's property belongs to the wife, and the husband had to support the wife for life or  (as in current common law) there's an equitable division of a fractional share of property for the wife based on state statutes and husband has to support the wife for a specified period of time in some jurisdictions?

Answer 2. You should assume separate property (which is pretty much implied in a Married Women’s Property Act). If you are asked about community property, the question will have to say that. So far as divorce is concerned, it would be hard to ask an objective question about that. The variations are substantial. If it is involved in the essay question, something would have to be said about it in the question.

Question 3 (Question 1, follow-up to the follow-up). I just have one specific question. When you say the state has received the “common law” – is it the common law as the states apply the common law today or as the states used to apply the common law as English common law back around the 1500s? Because the common law has changed significantly since then.
Answer 3. I really like this version of your question because it’s about real history and not about the phony version of history that we too often teach in the first year of law school. Every U.S. state, except for Louisiana, at some time ‘received’ the common law. No state received it as it existed in the 1500s because there were no U.S. states in the 1500s. Those on the east coast (and not only the 13 original) received it as it existed in the late 18th century. They immediately made some changes, some of which were conscious changes and recognized as such, some of which were more gradual. This is an exam about modern law, not about history, but we live in our history. Some of the changes have been statutory, and those changes are likely to have been conscious ones. So a judge might say “The common law on this topic was X, but we have a statute that says Y.” ‘Common-law’ in that phrase may refer to the English common law as received by the state, or it may refer to state common-law decisions, perhaps of quite recent vintage, that the legislature decided to change. The ‘common-law-modern-law’ distinction that we made when we were talking about estates and future interests refers to a distinction between the common law as it was imagined in the 19th century when a whole series of mostly statutory reforms were made. Most of the assumptions about the state of the law that are found in the Instructions to the exam deal with this distinction. They might be read as “start with the common law as it was imagined in the 19th century and make the following statutory changes.”

But there’s more to your question than just that. We pretend that the method that judges use to ‘find’ the common law has not changed. But, of course, it has. When you ask the question ‘what should I do when I’m predicting what a court will do with a particular doctrine’, you may be asking ‘should I assume that the court is a 21st-century court that will entertain all the kinds of arguments that a 21st-century court entertains?’. The answer to that question is emphatically ‘yes’.

Question 4. For assumption #5, would a conveyance to a husband and wife need to say that it is a tenancy by the entirety to surpass this assumption, or does the fact that they are a husband and wife overcome assumption #5?
Answer 4. The trick on this one is how you take ‘unless otherwise specified’. Once the Married Women’s Proprty Act was passed, that probably put paid to the notion that any conveyance to a husband and wife had to be as a tenancy by the entireties but what you needed to say to overcome the presumption of tenancy in common varied. Some states (e.g., Wisconsin) exempted conveyances to husband and wife from the general presumption of tenancy in common, but that is not what #5 says.

Question 5. For the actual exam, what format do you prefer? IRAC? Do you have a particular preference for how the rules should be explained/defined within our analysis?
Answer 5. I’m not a great fan of any rigid method for writing a legal memo. The nature of the problem should dictate the method used. Also, who you are writing for makes a difference. As a general matter, I’m looking for coherence and a sense for what the troublesome issues are and what is pretty obvious.
